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Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting questions :

There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Question nos. 1 and 5 are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each section.

The number of marks carried by a question [ part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.

Graphs /illustrations, wherever required, may be drawn/given in the space provided for answering
the question itself.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer Booklet must be clearly struck off.
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wUE A
SECTION A

Q1. fr=ffea uas o7 =1 IW & TwT 150 et # Ao

Answer the following questions in about 150 words each :

(a)

(b)

(c)

(d)

(e)

THITUHRIcHS AT & A=id Sraiaq g fduifed HAfdfid &wmar &
foem < 989 # s3rE fifs |

Explain briefly Chamberlin’s concept of excess capacity in monopolistic

competition.

TS & qLAd] ARHHE Y & A=q1d aeral e & foar i ==t Hifsw |

Discuss the concept of ‘liquidity trap’ in the liquidity preference model of

interest.

g1 Y T A AT SfEHRIUT a9 Tehg AN R % S THE FR HH-HH
qE?
In demand for money, what are the major differences between

‘transaction approach’ and ‘cash balance approach’ ?

“Gre Hiudt § IEEaT a°T WY YA & AR W SR % HIEE qRaea
fagra it ==t Hfv |

Discuss the Factor Endowment theory of trade in terms of ‘abundance in

factor prices’ and ‘factor abundance’.

T & IER, IrEgiad fasm amfss 3ufema ¢St (SOC) tuanr ‘Seaw
3cqres fspanatt (DPA) & mream & foham 1 wehan 2 | =il hIfTT |

According to Hirschman, unbalanced growth can be through ‘Social
Overhead Capital (SOC) or ‘Direct Productive Activities (DPA).

Discuss.
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Q2. (a) U g (gdieh) aom 4,
P=100-2Q,MC=10 3R Q=q, +q,
&t P : ST9R 3
Q : T UG/ FHI % 3G HT Fet A
q, 1 q, : 5o FH ot fgdia & i shaar: Seare
MC : #iH 1= AT

" A S HH SR § Aqca et @ qun fgdta e S srgat St R )
g g9 U 39T Scared fAuffa et ® acavenq fogdfi wd st Seea
ffvaa et ® | 91 wAT 1 FgEA IS, YoF a9 AN 19 I |
Consider a duopoly market,

P=100-2Q,MC=10and Q=q, +4q,

where P : Market price
Q : Total output or the sum total of both firms’ output

q, & q, - Firm 1 and Firm 2’s output respectively

MC : Marginal cost

Suppose Firm 1 is the market leader and Firm 2 is the follower.
Firm 1 decides its output first and then Firm 2 takes its output decision.
Find equilibrium output, price and profit of both the firms. 20

(b) A vm v g FEEE e, awzﬁﬁémmmm
BT ? 31 IR ) AT HIT |

Do you think Firm 1 would have had the first mover advantage if it had
gone for the price adjustment ? Explain your answer. 15

() faeret dgem N Huet 3t Tifeds 1 B | 91 19 HEHA & ? IR IW &
aifecs &t wfua hifde |

A competitive equilibrium is both Pareto efficient and equitable. Do you
agree ? Justify your answer. 16
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Q3.

Q4. »

(a)

(b)

(c)

(a)

(b)

(c)

IS I3 9] R & Gger fagati &1 foagea 2 | IS 9% & FW a1 = &
forg  quia 8 2 _

IS curve is the locus of equilibrium points in the commodity market.
What do the points above and below the IS curve signify ? 15

ST TUrh <hl g1 HgT U | hIfTT | shfee TR Sfee #1E & I 3TN
T2l Uk T T <hIS TWT TSl & ? 39 ST % ifued @t wenfia Hifse |

- Compare the deposit multiplier with the money multiplier. Is there any

impact on the money multiplier arising out of massive use of credit and
debit cards ? Justify your answer. 15

ot §oft ftefiern we e fafe o afed gelt srdermeen # Ay Ay H
gurasiiaar H foammr e | 3fe o= feufaat swfefda © @ = f@r
fafr @ d ot 9 Hifa wwmesmeft @t 2 =mEn Hif |

Discuss the effectiveness of the monetary policy in an open economy
with flexible exchange rate and perfect capital mobility. Will this policy

remain effective with fixed exchange rate also, while other things
remain the same ? Explain. 20

HOAY & fgrdl sl S8 | =41 39 99 & foh THH R T 399 A
¥ ATTY HU hl U TeA&T H HH ST BId & ? A I & A H
wrrfuq hifse |

State the canons of taxation. Do you think that direct taxes are less
burdensome than indirect taxes in generating equal amount of tax
revenue ? Justify your answer. 20

wafyes e — wh U (Afe) T, W gEEte S w1 e Sifue
ST |

Give economic rationale for public expenditure on elementary education
— a merit good. : 15

wfafSa den - yrEdt § T SYfd F5k 1 w1 AR BN ? forega e
Hifm |

What will be the shape of the aggregate supply curve in the Classical
and Keynesian models ? Give detailed explanation. _ 15
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SECTION B

Q5. Frafafaa T w9 o1 I W 150 Wi | difre
Answer the following questions in about 150 words each : 10x5=50

(a)

(b)

()

(d

(e)

faawor % Freet ET Hi TgE TR w wWE = ge g Hiv fE wl
g # a1 e Fot Iare # AW % o W i war R
Stating major assumptions in the Kaldor model of disbribution,

establish that share of profits in national income depends on the ratio of
investment to total output. 10

T FE S g0 g@ FrEw ¥g orwerd v ufmoners faftr it samen
HIfsT |

Explain the quantitative methods of credit control adopted by the
central bank. 10

Hik dgod favemu & o=wla Yok & IUNNT UE ToRE gWEl H ==
Hif |

Under Partial equilibrium analysis, discuss the consumption and
revenue effects of tariffs. 10

I & i gig Frew # wra A v § qwisy o R oo s
a2 | '

Show that in Domar’s growth model, in equilibrium, path of investment
is exponential. 10

Tl garaEl & ged #§ YA d91 Wit EUNn % 7ey =) it 3@
IeTewit afga 9=t HIRT | T 37 H1 GaE § A T A Suasyar wiasy i
e % 3o & U w9 B Tt } 2 3 IW F ANfvw B wnfia
HfT |

With appropriate examples, discuss the difference between the flow and
the stock concept of renewable resources. Can the availability of one of
these two resources be less for the consumption of future generations ?
Justify your answer. : : 10
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Q6. (a)
(b)
(c)
Q7. (a)
(b)

Tuidd Hgfg X & o9 T we ¥ 2 ¥We & anfhw wafy yrew § ghuw
JEGT h FHER Y = Hf |

What do you mean by the warranted rate of growth ? Explain the knife
edge instability problem in Harrod’s growth model.

3R 39 G VST UET % =i oW i welifa mgfd & dl @ sl
3g@ HIRT a1 ws 37eq fashfim 23w % arla Aed sreferawen & freme ¥g
foranfafy wemsT |

Following Arthur Lewis, briefly state the sources of unlimited supply of
labour and explain the mechanism of development of a dual economy of
a less developed country.

for faepa g=@i® (GDID) wa fom guiftrentor w19 (GEM) # srazat qun fmfor
% YR T 3F=q¥ie HifT |

Distinguish between Gender Development Index (GDI) and Gender
Empowerment Measure (GEM) in terms of their components and
constructions.

vigor i f6 w7 fepret & gy § omrons @w w1 Rigra aad o
JATHS ATTAL BT g =9 Srar @ |

Examine whether in Ricardian model, the theory of comparative
advantage actually becomes a doctrine of comparative costs.

A SAYR TEY & F=ria Sy Afeha (ATemer) o wwrelt 0 & wem
aﬁ‘ﬁzﬁﬁq IHFTFﬁﬁTQ:

o IrTfad I%] j &G 3ifhd TNeh 40% B,

o T i ¥G TYeh o 40% B,

o A ARG i T AN &, j o%g Y A IS AT T 0-5% B |

Fagor 61 gHTEt @ 1 Frafor Hifse qon 3@ g # gwfse e sifea (Atfee)
TY[eh S UG TLEOT I I G THEAWH B |

Distinguish between nominal and effective rates of protection in
Standard Trade Model. Suppose

®* nominal tariff on imported good j is 40%,

o tariff rate on input i is 40%,

® cost share of imported input i in the total cost of production of
commodity j is 0-5%.
- Determine the effective rate of protection and show that in this case
nominal tariff rate is equal to the effective rate of protection.
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(c)

Q8. (a)

(b)

(c)

I et g wfautfed ‘sHtesiom me’ % fagra it samen i |

Illustrate Jagdish Bhagwati’s doctrine of Immiserising Growth’.

SR 3N o W EH TY Feq (3Hers) & i Hi fafey | w@ e
Tuza ¢ T forasfiar 2ot & e sl @i = sgm o siere awa @

R ? I IW F I = Tl A |

State the functions of United Nations Conference on Trade and
Development (UNCTAD). Do you think that UNCTAD has been
successful in extending economic cooperation among the developing
countries ? Justify your answer.

femprasfier 2w 1 YquT hi T I W wH THR hi Tt TgEuh genreEl
% fou fifés @ & ot 38 whouH &9 @ @ @ ¥ ? 39 @@ i fEEm
fafyr @ weftra sn-a=n qued § 2

Why do developing countries rely on specifying a permissible level of
pollution and impose it uniformly across all polluting units of the same
kind ? What are the problems associated with such a control method ?

COP (138 3T% UIEiT) 26 I JT ThadId 3N JEHeAard = 8 2

What are the major achievements and failures of COP (Conference of
Parties) 26 ?
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